"7 Find the midpoint of the two points.

(9,-5,1), (9, -2, —4)

12. Find the value of each variable.
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15. Find the 100™ partial sum of the arithmetic sequence.
a, =15, a,, =307
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17. Determine whether the sequence is arithmetic or geometric, and
then find the common difference or the common ratio.

19. Find the limit.

i R O | 1 ' a
____________ i
4 8 16 32 )
| —v
‘ \
R SR -2
- = =
18. Find the limit.
. 2xP—x-3
lim
=1 x+41

: 3x* +2
>0 Qx® _2x*+7

0
3 L ¢

.}5 3
/’?7 % 3

0

— —
- -

2
y

v
3

o

0

20. Solve the system of equations. Use any method but all work

2x—y+5z=16
y+2z=2
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